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E R  4 Fer 1 4 1 5000 3
H R  2 Fer 2 4 0,5 5500 13000 5 40 50 0,25
RFG 3 Tlf 3 4 0,65 3500 10000 5
RFG 4 Tlf 7 4 4 10000 30000 5
U 22 Maz 4 4 0,65 5000 15000 3
1875 eur 5 4 2,3 5000 14000 5 10 0,5
1876 eur 6 4 0,3 850 3500 5 10 0,5
1877 eur 1 4 0,65 6000 20000 3 20 0,5
1878 eur 7 4 0 7 10500 2

E q u i v a l e n t s

HG 1 V a l =  1875
HVR 2 M u l =  1877
H VU 1 Hiv =  1877
R 10 Bri =  H R  2
SU 4150 A Cos =  1877
U 21 M a z =  1877
2 T/270 K ST C E =  H R  2
4 G 5000 T K D =  1875
6305 amer =  H R  2
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